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1. CRECIMIENTO DEMOGRAFICO

La demografia es el estudio cientifico de la poblacién, y cdmo y por qué
cambia. Los cambios son el resultado de cuatro factores.

Tasa de natalidad
El nimero de
bebés que han
nacido en una
poblacion.

Inmigracion.
Personas que
vienen a viir a un
pais desde otro
pais.

Tasa de
mortalidad.

El niimero de

. | fallecimientos

~ | en una poblacion.

Emigracion.
personas que van
desde supais a
otro pais.

Crecimiento demografico.

El Crecimiento natural es la diferencia entre el numero de nacimientos y el
de fallecimientos en un lugar concreto en un periodo de tiempo.

Crecimiento natural = nacimientos @ - fallecimientos
Q “ \
@

Saldo migratorio es la diferencia entre el nimero de inmigrantes que llegan
a un lugar concreto y lo emigrantes que salen de él.

-

Saldo migratorio = inmigrantes -emigrantes

El Crecimiento real es la suma del crecimiento natural y el saldo migratorio.
Nos indica si una poblacion de un territorio esta aumentando o

\disminuyendo. /
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2° JQué es la demografiar.

2° Enwumera loy cuafo- factores gue cntfervienen en la poblacion:

3% Indica se el ecrecomiento natural dasmenuye o- anmendtn en
cada caso:

TN= 3 nacimientos x 1.000 habitantes TN= 2 nacimientos x 1.000 habitantes

TM= 4 defunciones x 1.000 habitantes TM= 1 defunciones x 1.000 habitantes

4° En una guerra o- una catdslrofe, jcomo-serd el crecimiento-
natural de wn pais, positive o- negatvo? Razona fuw respuesta

57 Calewda el crecimiendto- demogrifico- en esfos casox:

CN= + 2.300 habitantes CN= + 1.284 habitantes

SM= + 5384 habitantes SM= - 875 habitantes

6° Explica como-se calewda el crecimiendto real de una poblacion:
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1. POPULATION GROWTH

4 A

Demography is the scientific study of population and how and why it
changes. Changes are the result of four factors.

Birth rate. The number

of bables that are bom in

Immigration. People
come to live in a country

a popuianon from another country,

Death rate. The
number of dearhs in a

Emigration. People
maove from thewr country

Lo another country,

population

Population growth

Natural growth is the difference between the number of birchs and
deaths in a specific place in a penod of time.

Natural

Net migration is the difference between the number of immigrants
who arrive at a specific place and the emigrants who leave

Net migration = Immigrants - Emigrants

Real growth is the sum of natural growth and net migration, It tells us
if the populaton of a territory s increasing or decreasing

\_ /
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7th Listen fo- the definctions: Write down the words cn the
correct-ovder.

Natural growth emigration demography net migration

8 Read and angwer:

Joytown is a village of 200 inhabitants. This
year, there were 6 births, and 5 deaths. In
addition 12 young people emigrated abroad
and 10 people moved to the village to work at
a new hotel.

a)  What is the natural growth in Joytown?
b)  What is the net migration?
c)  What s the real growth?

T Chovse the correct defindfron for these wordy:

Natural groth. The number of bithrs in a year for every 1000 perople.
Net migration The different beteen inmigration and emigration.
Emigration. The sum of natural growth and net migration.

Real grwth. The act of leaving a place to go to live and work

simewhere else.

Birth rate. The number of babies born in one year minus the number
0s deaths.
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2. CAMBIOS DE LA POBLACION EN ESPANA. 4

4 A

La poblaciéon de Espaiia estd envejeciendo debido a:

Decrecimiento de la tasa de natalidad.

Las familias frecuentenmente tienen sus hijos
mas tarde en sus vidas, porque el embarazo y el
cuidado de los hijos tienen un efecto negative en
sus carreras y su trabajo, por tanto tienen
generalmente menos bebés.

Su tasa de nacimiento esta entre las mas bajas
del mundo.

Incremento de la esperanza de vida.

El nimero de anos que una persona Vvive,
debido al avance de la medicina y los habitos de
vida mas saludables.

La esperanza de vida en Espafa esta entre las
mas altas de mundo, aproximadamente de 83

anos.

5
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Esperanza de vida B Women Namero de nifios por mujer

o
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10° Enumera lag cansas Adel enyvejecimeinto-de la poblacion en
Expana;

11° iComo-es la fasa Ade nacimientos de Expaia? iY la de
esperanza Ade yidar?

12° Observa el deagrama Ade “Experanza de yida’”’ de la pdgina
anfercor. JQuienes fiene mday esperzna Ae vida lox hombre o- lag
muyeres?

13° Observa el diagram de “Nimero-de nivoy por muwyer” de la
29407 ;Y en 20127 jA gl creees que se depe?

14° jCudd e la edad de esperanza de vida de la poblacion
Expaiola? jJA gué crees gue se debe?
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2. POPULATION CHANGES IN SPAIN.

4 A

Spain’s population is ageing due to:

Decrease in birth rate.

Families often have their children later in life,
because pregnancy and childcare have a negative
impact in their careers and works, so they have

usually fewer babies. "

Its birth rate is among the lowest in the world.

Increase of life expectancy.

The numbers of years a person will life due to
advance in medicine and healthier life habits.

Spain’s life expectancy is among the highest in
the world, approximately 83 years old.

l.;lup.m.tbinh = w:r"nen :umbewtchlldnn per woman |
80 4 &
n 3
60 | I I |

1
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15, Analyse this population pyramid from an Africa counfry and angwer
the quesfion.

+ 100
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Men 85-89 Women
i1 8084 0
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M 7074 R
M 5560
60-64
55.59
50-54
45-49
40-44
35-39
3034
2529
20-24
1519
10-14
59
04

2 15 ! 05 0 0 05 ] 15 2
Millions of people Age Millions of people

The government needs to decide if they should build more schools for children, or
more homes for elderly. Which is best? Why?

267 Listen fo-a conversafion aboudt life expectancy in ofher parts of the
world: Answer these guestion:
) Which country has the highest expectancy of life? Why?

#) Which continent has the lowest life of expectancy?

How many countries have a life expectancy of below 60 years old.

7% Write “True”’ or “False”
a) Life expectancy is the number of months a person will life.
b) Families often have their children later in life,
c) The life expectancy of Spanish people citizens is 80 years old.
d) Families have usually many babies.
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3. MOVIMIENTOS MIGRATORIOS. A&

4 A

Migracion internior.

La migracidn interior es cuando las personas se
mueven de una parte a otra en el mismo pais
para ir a vivir.

En Espafa, en la mitad del siglo pasado la
migracion interna fue comun. Muchas personas
gue estaban viviendo en los pueblos del interior
empezaron a emigrar a las grandes ciudades para
trabajar.

Migracidn internacional

La migracién internacional es cuando las
personas se mueven a otro pais para vivir.

Millones de espafioles han emigrado a otro pais
en Europa y América. Hoy, mas de dos millones
de espafiioles viven en el extranjero debido a la
ultima crisis econdmica.

Espafia también recibe inmigrantes, que huyen
de la pobrezay las guerras.

+30
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18°. jCudnfoy fipoy de movmientos migratorios se dan en un
pais?

29° JEn gue épota la migracion cntferior fue bastante comin en

20°. jQue es el éxodo- rural? jEn gué consistio?

21° jCudnfos espanotles aproximadamente viven hoy dia en el
extrangero?

22° A gue confinents suelen marcharse Loy emigrantes
espanotles?

23° Explica la diferencia gue existe entre la migraccon cnferior
Y la infernacconal

24° Lee este firvdar de un pericdico y averigua lo-gue puedas
sobre el fema:
“El drama de la inmigracion deja otra vez varios cadaveres

en las playas de Tarifa”.
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3. MIGRATORY MOVEMENTS. Jé&

4 A

Internal migration.

Internal migration is when people move to
another part of the same country to live.

In Spain, in the middle of the last century internal
migration was common. Many people who were
living in inland villages began to migrate to large
cities to work.

This is called the rural exodus.

International migration.

International migration is when people moved
to another country to live.

Millions of Spaniards have emigrated abroad to
other countries in Europe and America. Today,
over two millions of Spaniards live abroad due
to the last economic crisis.

Spain also receives immigrants, who are fleeing

+ X0
| o590 B
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25, Losten and Wrdte “True’’ or “False’”’ for each sfamen: (track 9)

26%. Which of the following does not deseribe a boy from London that
2) An immigrant in Spain.
#) An emigrant from his country.
¢) An immigrant and an emigrant.
A) An immigrant from Madrid.

27%. Write definifions for these words:

2) Inmigrant.

#) Ageing population.

¢) Life expectancy.

A) Internal migration.

28" Jesvis s traveling from Spain fo- Canada. He ¢ a lawyer and he has
find a job there: [v this an cnfernal or an infernational migration?

Santiago Bilingual School. La Linea de la Concepcion. Cadiz



4. DENSIDAD DE POBLACION ',Q

( La poblacion total de un territorio es el niUmero de personas que viven en ese\
territorio.

La densidad de poblacion es el niumero de personas que viven en un kildmetro
cuadrado. Se calcula utilizando la siguiente férmula:

Densidad de poblacion = poblacion total + area en km?

La distribucion de la poblacion es siempre irregular. Algunas areas tienen una
alta densidad de poblacién, mientras que otras tienen muy baja densidad de

poblacion. )

/ Distribucion de la poblacion \

Poblacion rural

separadas, por lo que la densidad de poblacion
es mas baja.

La poblacién rural suele ser mas vieja porque
los jovenes se van a las ciudades en busca de
trabajo.

Poblacion urbana

Las casas son normalmente altas vy
estan juntas unas con otras, por lo que la
densidad de la poblacién es mas alta.

La poblaciéon urbana suele ser mas
joven porque los jovenes van ahi a buscar

trabajo.




\_

La densidad de poblacion de Espana

La media de la densidad de poblacidn de Espafia es de 92 habitantes/km?.
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29° JQué diferencia existe entre poblacion fotal y densidad de la

30° jPor gué la dengidad de la poblacion en loy puebloy es mdy baja gue en
lag coudades?

31° Avergua la poblacion fotal de Andalucia y de La Linea, asi como-la

32° Excribe el nombre de una ccudad y de un pueblo y averigua s
potlacion fofal y sw densidad de poblacion.. Escribe una conclusion de lox
Aatos obfenidos:

33% jEn gul lugares de Expana se encuentran lag zonas mays pobladas? ;Y
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4. POPULATION DENSITY /é&

(- h

The total population of a territory is the number of people who live in that
territory.

The population density is the number of people living in one square kilometre.
It is calculated using this formula:

L 4 ( f { f [ 4

Population density = total population + area in km?

Population distribution is always irregular. Some areas have high population
densities while others have very low population densities.

\ J

A

-

Population distribution

Rural population

Houses are usually low and far apart so the _ >
population density is lower. 4 X g

The rural population is usually older because
young people move to the cities to look for work.

Urban population

Houses are wusually high and close
together, so the population density is higher.

The urban population is usually younger
because young people move there looking

for work.
v
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\

Spain’s population density

-

Spain has an average population density of 92 inhabitants/km?2.
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347 Listen fo-the programme and angwer the guesfion.. (track 10)

v" Who is the TV presenter interviewing?
v Where does she work?

v" What does she do there?

v" What is people greatest concern in Spain, at that moment? Why?

35, Look at the population densify map and say which areas this
nformation refers:
v’ The least populated Autonomous Communities are ..................ccoeveeinenenenn...
v The most populated Autonomous COMMUNItIES Are ...........c.ceuvvininininininennnnnn.

v' Cities with high population densities are ...............ccooiiiiiiiiiiiiiiiiieritir e eeeaeaeaen

36" Why do- yow think more of Spain’y population o on the const than
cndand? Circle your opincon:

| Water sources | Climate | Jobs | Transport | landscapes |

37 Comyprlefe the sentfences:

Provinces on the coastare ...............coceevviininninnnnn populated.
Provinces inland are .................coooiiiiiiiiii e, populated except for ............cooiiiiiiiiinnn.
WHICh 0S. ... populated.

38, Chouvse the best wordys fo- complefe the fext

Villapequefia has two hundred (1) ................. the Town Hall noted that three babies were (2)
............... This year , but five (3)................... people also died. In addition, A man and a woman
have gone away to work. But ten new people have (4) .............. to the village to work in the fields.

1. a) inhabitants b) population. C) map.

2. a) born. b) provinces. ¢)ilmmigrant.

3. a)elderly b) emigration. c) babies.

4. a)died. b) moved. c¢) worked.

Santiago Bilingual School. La Linea de la Concepcion. Cadiz



3 9%, Lovk at the population density map and pudtthese areas info-the
corveert column:
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40*. Label the population pyramcid:

men - elderly « children « adults of working age - women
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= Does this population pyramid show Spain’s population now orinthe past? Why? = e
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